Magnetic susceptibility measurement for dimer 1
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((---  Susceptibility measured

(((--- Susceptibility corrected by (impurity
((((-- Susceptibility simulated 

The best fit parameters are: J=-33cm-1, g=2.110, p=0.008, (=-3.5 K

The discrepancy factor (=[(((obs-(calc)2/((obs]1/2=1.57(10-3.

Magnetic susceptibility measurement for dimer 2
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0.00663
0.00654
0..663
0.654

125.06
0.00583
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The best fit parameter are: J=-4.5cm-1, g=2.107, p=0.015, N(=240(10-5
The discrepancy factor  (=[(((obs-(calc)2/((obs]1/2=1.318(10-3.

